YEAR 13 PRACTICAL 5
WORKED ANSWER
1.
CH3COOH + C2H5OH == CH3COOC2H5 + H2O

Kc =
[CH3COOC2H5][H2O]


[CH3COOH][C2H5OH]
2.
moles of ethanoic acid = 0.5/60 = 0.0083

moles of ethanol = 0.5/46 = 0.0109

3.
volume of NaOH = 12.0 cm3 so moles of NaOH = 0.012


so moles of HCl = 0.012

4.
moles of NaOH = 14.3 cm3 so moles of NaOH = 0.0143


so total moles of acid in equilibrium mixture = 0.0143


so moles of ethanoic acid in equilibrium mixture = 0.0143 – 0.012 = 0.0023

5.
moles of ethanoic acid used = 0.0083 – 0.0023 = 0.006


so moles of ethanol used = 0.006


so moles of ethanol remaining = 0.0049


moles of ethyl ethanoate made = 0.006


moles of water made = 0.006


Kc = (0.006 x 0.006)/(0.0023 x 0.0049) = 3.2 no units

6.
There are two volumes in the numerator, and two in the denominator, so they cancel.
